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star o faeaia

LICENTIATE EXAMINATION
PRINCIPLES OF INSURANCE
UG : 3 H2 [ 3 100
Time: 3 Hours] [Total Marks : 100
Teredt 3178 =it o I S | wuw wvA & 16 o E frg g
fwrard € € | 3= At weltes wve 12 o AR g

Answer EIGHT questions only. Question ONE carries 16 marks but this is
not compulsory. All other questions carry 12 marks each.

Marks
1. wfere frogu) ffig WO % 4 3%
&) A S A
q)  TYEA A

M) HE (space) sifan
q) e A e it

. Write short notes on ; 4 each
a) Legal Expenses Insurance
b)  Live Stock Insurance
¢} Space Risks
d) Combined and Comprehensive Policies

2, ‘Ul aer Sifae’ v i gl s e |3.
2. Explain in full the term 'Peril’ and 'Hazard'. 12
3. SiifEs paye 3 0 gHe s AedtEl ) avis FE i
3. Whatis Risk Management ? Describe its various techniques . 12
4, e smaETE § SEEAE # SEveET 39 2 0 12

4. Why there is need for professionalism in insurance husiness? 12
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S e ST oA w | e e s e g 12
S 311t & 2 v s At

Define Life Insurance Business , 'Can the personal accident 12
policy fall within this definition’ ? Give appropriate reasons.

S Hfer ¥ foru s Ao w0 12
What are the essentials of a valid contract ? 12

merqf ao 1 oftaf | veerwl audl &yl F e A 12
T HIF |

Define material fact. Explain importance of disclosure of 12
Material Facts.

i) ST Frwfeor 2wt A A B e oo
G == F & i arfiepa e s e

VR (G E R 10 E— I AR |

TN cAc — St 1 e o g |

iv) e s sE e faftrgof @ i qo 4 e wiferar 7
& =

I 60153 1 R ——— T e FEer d |

vi) U AT S HYHT <o R

TR0 1 o e e A 8 |

viii) T e HEET T - 7 |

ix)  HHET AT B oo L1 | — a1 & w9 anffea

R

Fill in the blanks :- | for each blank

1} Factors which influence assessment of the risk can be
classified 85 ——meeeee| oo and e

i1) The purpose of valuation is 1o aSCErLain —-—--e- :

3
=
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iii) The Agent is the best judge of any ----------- hazard.
iv) The object of insurance should be lawful and it should
not be -------- contract.

v) Contract of insurance is called a contract of ---------- .
vi) A warranty may be express of ——--------- |
vii) Subrogation applies only to the extent of ----------- :

viii) Policy 1s only ----------- of the contract.
ix) Marine insurance is classified as ----------- insurance and
----------- insurance.

FOT 2 U A 2 P P W | e e g - W % 2 3

i) e e sl w1 A reE A E

(i) offere s erfergfef ot w8 2 |

iii) AR 1 v e i Wy |

iv) T ot R A PR S E |

v)  3g, Siftae gt & v Aeergel e g e |

vi) W e A o, e e o e el & gea € sy
Bt |

State giving reasons, whether the following statements are true

or false :-

i}  Certain hobbies have underwriting significance.

1) Life insurance is comract of indemnity.

i1i) Letter of acceptance is a counter offer to the proposer.

iv)  An absolute assignment cancels nomination.

v) Age is a relevant factor in risk assessment.

vi) InMarine Cargo Insurance, insurable interest is required
only at the time of loss .

i fere frerrer o feru st & anfonfsaa faral & snavasar 2 & 2

. What are the commercial considerations while arriving at the

premium ?

2 each
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LICENTIATE EXAMINATION
PRACTICE OF LIFE ASSURANCE
uHg : 3 Ee | [&e 31 : 100
Time: 3 Hours] [Total Marks : 100
feredt at1e Wyl o 3w T | waw wvR & 16 o € feheg T srfard
& ¥ 1| 3 ol weles w12 HEHEEFEE |

Answer EIGHT questions only. Question ONE carries 16 marks but
this is not compulsory, All other questions carry 12 marks each.

| wr e A
i) HHIEEH
i) ATHIEA

iii) eqfegfef =t feveaia
iv) H 30 HHT
I.  Write short Notes on 4 each
i) Assignment
ii) Nomination
iii) Principle of Indemnity
iv}) Standard Age Proof
10T AT o U et - FHe T, T 4 & oo wafie 12
I |

2. State the reasons why an employer - employee group is the 12
mast suitable for Group Insurance.

3. S AEd AreAT o A s s & e Fe d sravrad. 12
qof &eeft qedfl & 0

3. What requirements are to be fulfilled for individual proposals 12
under Salary Savings Scheme .

a

4, MR A AT A 12
4. Explain briefly Ordinary Revival Scheme . 12

4
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B &Y T SR T R A o 7 e v

Bring out clearly the difference between Individual Insurance
and Group Insurance .

Ferenfee it wwfer sferfram | 874 wiferfivei 2 graem= &1 we@ ferdraemd
g ?

What are the salient features of provision of Married Women
Property Act 1874 (MWP) policies 7

ftaereT aat o fAver & for fofm smavaems @ §ae &
g e 7 == |

Explain the requirements to be satisfied for settlement of Maturity
Claims ?

s 3 TS e are Pt et o s e 9, 5
& &Y ¥, T4 & Hae i g9l 1 |

In view of the competition and private players operating in the
market, explain the importance of Servicing as a key factor .

12

12

12

12

FHIOT HiEe afvid &1 2 = e wdt 8 s e . (9T & 2 37F)

i) AT A Uit 6 sHE A F & gy G 4 g
qaffa 1 oA |

i) ST g & gE A Ay A E

iii) fer sedter 4B wl e e @ Al o e ey e e
WEME |

iv) o= g & w0 H oftada o diftas & 59 10 8, e
T |

v)  Sfter wfr fer 3 fere siferes ifes &) S sifard a8 8 )

vi) TR 9 WA A o e i wafte e o g g

2 each

State, giving reasons, whether the following statements are true
or false :
i) Term Assurance Policy can be surrendered any time after
its issue .
ii)  Nomination in favour of minor child is not valid.
iii) Policy clause 4B operates if death of the female life takes
place in public place .
i
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1v)  As a general rule alteration which reduces the premiur
15 not allowed.

v) Itis notobligatory on the part of L. I. C. to send premium
notices.

vi) Policy can be surrendered where the assignee is minor .

feet werre =1 gt ehifore e fiom 9 & fom | e

DI B Tk o ) p— BT s i 3| :

) e L ifereft ail e & Ao # |

i) wifers e Y wE o #T -eeeeeeee L e 77
Foref & Forereh fem wifereft =rey srewen 4 & |

iv) AT AT AT W A F oA e S - af |

I 6 £ | 1 (R &, Tiferel SEaT - 3

v 1 374} wiferedl et arferes gRveem & g4 9% e
Agar sferfiad e |

vii) Wmmmﬁmﬂaﬂ .......... ﬂ‘ﬂmm‘ﬂ‘qﬁ
=Afe o ad i 7 7 qe g A g |

Vi) seesaeias o e a1 Al & T fEae # day §
Rt #1 &t & & fore iy oftag 1 gares wear gm
eyt et sttt & |

Fill in the blanks : 1 for each blank

1) Assignment is ul two kinds viz. IS T

DR TR RIS are (wo aLhemea ut revival nt‘pnhcy

iii) The quantum of Terminal Bonus is dependent on the

.. of the policy and ............ for which the policy

has been in force .

1v)  The minimum age for granting DAB is ........... years .

v)  While proposal is the ............ of the contract, policy is
the ............ of the contract .

Vi) e, means closure or writing off the policy before
its actual maturity ,

vii) The Indian Evidence Act provides for ............ of death

in case a person has not been heard of, for 7 years.

Vill) .o are appointed by the Governing Body of the
Insurance Council to resolve complaints in respect of
disputes between policy holders and insurers ,
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LICENTIATE EXAMINATION
INSURANCE BUSINESS ENVIRONMENT
HAY 3 HE | [&et 3t : 100
Time: 3 Hours) [Total Marks : 100
o=t 2113 WY & It I | WAH YR % 16 30 @ foheg T e
T | Tt U WY 12 HEHE :
Answer EIGHT questions only. Question ONE carries 16 marks but

this is not compulsory. All other questions carry 12 marks each.

« = Marks
Ui =h 2 3h

1. =t e ga v & st arae 7 & A |
aT) e ISR ST A T & St S W S Al $ uE e |
OEECEE Pk EEiE RN EEERIREE GRS
%) A e Al & el o geare Fr e |
2)  SfrEe A S A STEH w1 A Tt S

HATAFATE |
2) 3. Al 7. S E e figa @ |
) I Y (W) U Ushedl Sfo 2T E |
d) 3. U, S G SETE A A U HHIOTE A |
q)  JIEH el HE, T et % derd o fAau da g |
2 each

1. State whether the following statements are true or false. Give
reasons.

a) A partnership concern is owned by two or more brothers.

b) Insurance to cover death by accident is treated -as life
insurance,

¢)  The Controller of Insurance scrutinises the accounts of
insurers

d)  Actuarial investigations are required to be done for both
life and non-life business.

¢)  An OBU is located outside the country.

fy  Anarbitrator is a single individual.

g) IS0 certification is a certificate of quality of the product.

7
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h)  Venture Capital funds are meant to promote adventure

sports. _

#&ﬁqﬁ'mm’%mﬁmﬁw'ma'%wﬁﬁ? o
e et Ty

) I ®) . w3,

ii) o an. @) W%

iii) WU ) frafa

iv) faifeeson (21 52 W) R ()

v) =fiafka dq) U HEY

vi) HEMEHfA @) A
vil) FpeE qefe qe (U, 3. 1) ) "
viii) e fersmee weafir (A, @ @) %) P e

) EE q) ey afia

X)  EEE 1) Wi

xi) furaz 7))  HeEm

xii) THH w) T e A

k ! . 1 each!
Match the words in Column 'A’ below with the words in i

Column'B'".

Column 'A’ Column 'B'
i) AgroIndustry a) BSE
11y BPO b) . Banks
11i) Cross Roads ¢) Exports
iv) Demat d)  Fulures
v)  Derivatives e¢)  Hinterland
vi) Inflation _ f)  Information
vii) NAV g)  Mall
viii )t NPA hy  Mutual Funds
ix) Office i) Price Rise
x) Ports 1) Stocks
x1) RepoRate k) Storage
xii) Sensex )  RBI
ot 3 & Femdt ofier o e o o e HEIF % 4 3

o) HEHE LT I T4 Hhe U 37 |
q) U L AU, L A |

3
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H) W[ WE F Gl (open ended ) 741 &2 IS |
) Wi A IUhH AT SIS TUH S |

Distinguish between any three of the following :- 4 each
a) GDPand GNP

b) FDA and FlI

¢} Open ended and Closed ended schemes of Mutual Funds

d) PSUand BPE

frerferfian # & faret o= o wifera feoroft fora | Wl & 4 3
) T EEl (key ) A1 ff ST (key) '
) o i afaf
) & A’ T AE.
GO i -

Write short notes on any three of the following 4 each
a) Public key and Private key
by Audit Committee

c) TRAI
d) OFCE]
a1y argu, e 6 8 st o e i e ae S e
0 g HAE el | 3

i) afe srene =t faelt 2 S e, e oty 6 S 6 R s
3 ifer =1 7 <7 ot S fopan @ e sl 6 wifer
| () S ol ST B & | e e ifere <ht e & o fan
Fe ol --—--- il 7 SRR # (21, 22, 25)

i) R A E e i o - - v are & (A, fore
aefl, @, forat o 1) _

iii) e e W -~ o et 7 el o o g e
ST & | (TR e, e arfe, s o e, g 6 e
)

iv)  UEA S ol ------ o Wil 1 e HE G o e g
fifran ST & (AT gEeH, e, et ar, e 4
w4

v) T I H ---mmme 1 e g fafera e s @ (e
feh, e, 3o € i)

9
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DI A [ p— ST | (claia, G A, FHre,
T 9 g 8) :
fert Ferfiarm =t ferer & i - HF &1 | 3
i) UL e, A i) WA U, # oo,
iii) 2. @9, 3ng, un, vy, iv) -2
v) & w vi) A A
]cm:hI

Indicate which of the alternatives in brackets is the correct

one to complete the following statements .

i) If the date of proposal is 2nd June, the underwriting
decision is made on 6th June, the policy is issued on |
7th June, and it is received by the policy holder on
10th June, his right to ask for cancellation of policy

is valid till -——----- June (21st, 22nd, 25th )
i) The award of Ombudsman is binding on the —-----

(the insurer, the complainant, both, neither) ]
1i1) The Solatium Fund is used for compensation in the

case of --—-—- (gross injuries, all injuries, loss of limbs,

none of these)

iv) Relief Fund is used to provide relief to victims of
——————— (car accidents, earthquake, hazardous
materials, none of these)

v)  Small Scale industry is determined by the amount of
--— {investment, turnover, employees, all of these)

vi) Book building relates to - (accounting, capital
market, publishing, none of these) _

Expand the following : | each

1) NCLT i) NSDL ]

i) TRIMS 1v) C-Dot

v) COPA vi) MTO

TsiTE wt T 5 e ) HE % 6 3

Feyefeafiae o s i s W e T e

i) e

i) At ae v & A

What is the significance of the politics of coalition? 6 each
What s the impact on the insurance business arising out of
1) adulteration
i) negligence on the part of owners and managers ?

1} :
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3) et mE & fafie g e ? YT % 6 HF
A) A’ wa ezt & Hafa @ geen F
a)  Whalt are the different kinds of leasing arrangements? 6 each
b) Compare the relative advantages of Hire Purchase and

Leasing.

o wifefiredt o} Sherdh o =Tt e WA F A H ;W & 4 S0
) S EE Yiferd

a) e e
q)  mrEnfE it
4 each
State at least four of the main provisions of the following
policies :-
a) Population policy
b} Power policy
¢) - Technology policy .
o=t 3 wfaieg 7 v e ferey S € 7 AR % 6 3%
) AR AT
q) g o =
How do you see the future in respect of the following ? 6 each
a) Biotechnology
b)  Shifts in agriculture trends.
%) THg-TEa T i e i e sy @ eI % 6 3

) S Y o AN (o AT 5 e A A A H
AT SrE A2 A47 afuF AfeA s A w e

a) What is the purpose of the credit policy announced fmmﬁﬁ‘:h

time to time?

b)  Explain the statement "with globalisation, the environment
of business and trade is becoming much bigger and more
complex”. '

-=-= The End «---
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AgHteTIE udar
AR SHT o SHaEr
LICENTIATE EXAMINATION
PRACTICE OF GENERAL ASSURANCE
AT ;3 6L [FFeT 37a : 100
Time: 3 Hours] [Total Marks : 100
ferdt arre woAl o s oo | e wva & 16 i € T o
sifrard & & 131 woft el wv 12 st d

Answer EIGHT questions only. Question ONE carries 16 mirks but this is
not compulsory. All other questions carry 12 marks each.

L. 31) T e s st s o P e R
ATl & 7

q)  USSTHA HT G W S 7 4

H)  FoEh e R o gt v A A A i 4

I.a) What are the items of information commonly asked for 8
in all proposal forms?

b)  What is the purpose of an endorsement? 4

¢)  Give speciment wordings for any one type of endorsement. 4

s . 2 .qgﬁ%%ﬁlaﬁ“}
2. Taeferitan vifermei & siavia v dr sy 3 gey i #ifem
H) e uiferd
a) g afagf wiferd
) " Irra giferd

2. Briefly explain the coverage under the following policies 4 each
a) Money Policy
b)  Professional Indemnity Policy
¢) Marine cum erection policy

3. Frmfefiae # & foredit oftmr vt wifire feroafrat ferfia | (M & 6 #H)
¥) A g dar sfufay 199
q)  Hiex J AfefEm (988 & 140
W) Iuier e st 1986 -
7) mnm@i’rﬁqﬁéal%rqwd
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3. Write short note on any three of the followin g 4 each

a)  Public Liability Insurance Act 199]

b)  Section 140 of Motor Vehicle Act 1988
¢) The consumer Protection Act 1986

d)  Reserve for unexpired risks

4. aﬁ,m,gﬁ.q.{aﬂmaﬁﬁjﬁﬁaﬁ%mmmﬁﬁﬁfﬁa 12
TAHIT i fersrsr #ifs |

4. Enumerate the provisions pertaining to direct brokers under 12
the IRDA (Insurance Brokers) reeulati s. (T :
g (Insurance Brokers) r gulation ( ¥ 6 3%)

5 &) mwﬁmﬁﬁfmzﬁ%gﬁmm%amwﬁﬁa&mm
FE Y
q) g Harw o o R aeey § 0
6 each

5. a) Whatare the provisions relating to "advance payment of
premium " for general insurance policies?
b)  What are the relaxations available in respect of the same?

6. 3echa FIfrT o6 forrferfia o vt & o wreper (W H1 | 27F)
&) wwﬁmmw%qaﬂ%ﬁwmﬁa 100 FT 2 |
@) ﬂﬂgﬁﬂ@qﬁﬁmlgl?%mﬁﬁmﬁﬁm
%ﬁqﬂﬁqwaﬁﬁmmﬁgﬁmﬁm&ﬁaﬁél

) mmaﬁrﬁeﬁrﬁamgﬂaﬁaﬁ%gm&fmﬁaﬁm
%mﬁﬁﬁmﬁmﬁmﬁﬁmﬁﬁﬂmm%r

q) mﬁﬂﬁmaﬁﬁmlgsﬁm.mmﬁﬁmﬁ%
mmﬁﬁmﬁﬂﬁawﬁaﬁﬁaﬁmm% |

) A e il g i qiferdt F 3wt 3 % Ao
F WA YR B A T A

8) mmm%wmm%wmw
I HRr o S e @ |

1) mmwmmmmmﬁmﬁm
%mh%ﬂmﬁ#mﬁﬁaﬁmaﬁmmﬁmm%|

&) WWﬂW,W%%WﬁWﬁW
e |

W) STErE I R HeErd wifeTHft R =g sftferem

& 1008 '
5

I ———




)

d)
)

State whether the following statements are true or false.

a)

b}

c)

d)

e)

f)

g
h)

i}

k)

)

9)

Farelt i e 3 s s e ) e o g 11

wehefl & ST o wifersdt o afeoter et e o B o e
9iCATOT % &R F Hedg A )

FHahr Ay wiferdt 3 e, sopes g wnfaa & |

At wifereit o sl dmm wamore 2 e 4 arafy ot a8 st
?ﬁ’lﬁﬁﬁﬁ‘-@%ﬂﬂ?ﬁriﬁmmﬁ?ﬁ% I

The minimum paid-up capital required for general
insurance business is Rs 100 Crore.

The Inland steam vessels Act 1917 makes it compulsory
for owners of Inland vessels to insure against legal
liability to third parties,

Workmen compensation Act 1923 provides for compulsory
insurance of workmen as per provisions of W.C Act,

As per consumer protection Act 1986 appeal against
National Commissions award can be made to supreme
Court within a period of 60 days.

Under Fire policy with Reinstatement Value clause
depreciation is not deducted at the time of settlement of
claim.

Depreciation can be covered under motor insurance policy
by payment of additional premium,

Workmen compensation Insurance policy covers liability
arising under Fatal Accidents Act and at Common Law also.
Inspection of a risk helps in understanding the physical
hazard of the risk.

Minimum premium for a fire policy covering dwellings
15 Rs 100/-.

Arbitration clause in an insurance policy can be invoked
only when the liability under the policy has been accepted
and the quantum is under dispute,

The premium for workmen compensation policy is
governed by Tariff.

Period of validity of acertificate of insurance of motor policy
is the same as the period of insurance under the policy.

e eferenl/af TR 1 e Ya w0 A
gl & 7 :
Hefer & fafere e @ g & 9

6

| each

(3R & 6 37e)
SR
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a)  What are the requirements for granting licence to Insumncc‘EI She

Surveyors / Loss Assessors?
b}  What are the specific functions of a surveyor?

febet oty wiferelt & weed  Frerferfian s & | (HEE % 4 i)

) wh diferedt o sfta B et F s s @ 0

) mﬁﬂmmﬁﬁm%m@mmﬁmm
Hear g ?

) W%ﬂmﬁfﬁr—ﬁm’@-aﬁ#mﬁ%wm|

Answer the following in respect of a fire policy. 4 each

a)  What are the perils covered under a Standard Policy?

b) Out of these, which perils can be deleted from cover at
insureds options?

¢) Name any four add-on perils under the policy.

3) W (i) & 3n e wy E 0 2

) aﬂﬁﬁ{ﬁmm)%mmﬁaﬁﬁrﬁﬁmmaﬁ
aifat e # (fopedi o a1 3eerm #%) 9

H) T st o e sl oo e e e e d 4
AH FqET |

4)  What is meant by ITC (Hulls)? 2

b)  What are the different types of losses (mention any six) f
covered under ITC (hulls)?

¢) Name different types of vessels which can be covered 4
under these clauses.

Fr=fefian 5 za #ifo (979 % 4 37%)
) TF Hewla wrafe gw 01.04.2005 § 31.03.2006 3
Sl & & %, 15,00,27,000 F amt 5 LUCIEREE
31.03.2006 % TR A=T1 16 2 wAwE . 25, 15,00.000
A1 7T 31.03.2005 % SFTHR a1 A6 2 A
35,00,27,000 91 1 &9 2005-2006 3q Hee % 39 i %
IHS FAE 7
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@) fferfaa SR o S o fryasTar TR viferdt 2 sred
SR YT 39 S a5 orEr e |
e i : ®, 100 @,
wHalal rdenm : 75
Hiftram &3 ; el
m=fmaET . w10

H)  HEAGRR sl Je v At viferdt & st Freferfaa s
& SRR St v st fifere el & o S
ammafr ®. 150 @@
Sitfeam 7T it e (12 e w s &, 80 wm
dfeme ®. 2 3t g9,

. Solve the following : 4 each

a)  The claims paid by a divisional office during the period
01.04.2005 to 31.03.2006 was Rs. 15,00,27.000/-. The
provision for outstanding claims as on 31.03.06 was Rs
25,15,00,000/- and the provision for outstanding claims
as on 31.03.2005 was Rs. 35,00,27,000/- . What is the
incurred claims figure for the division for the year 2005-067?

b) Calculate the premium payable for Fidelity Gurantee
Policy on floater basis based on the following information :
Gurantee amount  :  Rs. 100 Lakhs
Number of staff : 75
Premium rate R o
Loading per person :  Rs. 10/-

c)  Calculate the deposit premium and premium refund under

a fire policy with declaration clause based on the following
information:
The sum Insured : Rs. 150 Lakhs.
Average value at risks (based on 12 declarations) : Rs
80 Lakhs.
Premium rate :  Rs. 2 per Mille.
R, - || - (o
«=== The End ----
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